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ENGLISH VERSION

Instructions :
(1) All questions are compulsory.
(2) Marks are indicated on right side.

1 (a) Explain multiple correlation and partial correlation.
(b) What is residual ? State its properties.
(0 Prove that : 10

0 hos- biz ;)1’321’13 " 212.3 223.1 1231.2 .
T Y23%32 213 %32.1 "13.2
OR
1 (@) For the following data obtain the regression equation 10

of x3 on x; and x,. Estimate the value of x; when x =9

and x, =7 :
f1:68 61210 }"12:06
f2:70 02208 }"13:07
f3 =74 03 =90 }"23 =0.65
(b) If n,=r3=r3=k then prove that 10
) k .. 2 2k>
7 =— 1 R =—
O 2377 W R T
2 Explain : (any two) 20

@) Importance of business forecasting.
@) Input-output analysis.

@ii) Method of least squares.

@av) Exponential smoothing method.

OR
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2 (a) For the following data fit the second degree curve
and estimate the price of the year 2017 :
Year : 2011 2012 2013 2014 2015
Price : 10 20 30 50 40

(b) The matrix of technical coefficient of two industries

A and B is as follows :

0.1 03

06 02
If the final demands of industry A and B are 30 and
100 respectively, find the total production of industry
A and B.

3 (@ Explain the meaning of Linear programming and

write down its uses and limitations.

() Maximize the objective function Z =15x+10y with
following constraints by using graphical method :
4x+6y <360, 3x <180, 5y <200, x, y>0.

OR
3 (@) Define the following terms with respect to L.P. :
@ Objective function
@) Solution
@1) Optimum solution
@v) Feasible solution
(v) Constraints

(b) Maximize the objective function Z =3x|+4x, with
following constraints :
2xl+3X2 £16, 2xl+X2£8, xl, X2ZO

4  Explain :

@) Simple random sampling method.

@) Stratified sampling method.

@ii) Difference between census enumeration and sample
enumeration.

OR
4 (a) Explain :
@) Point estimation and Interval estimation.
@) Standard error and its uses.
() A sample of 100 size has a mean 65.8 and S.D. 4.

If the population is normal and its mean is unknown
find the 95% confidence limits of population mean p.
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